ol ot for Craftlander 7 through10
Sk o prrgeni gy, fem o i o Step parts
stringer- ] stringer .-
3/8 x 3/4 Bolt 2 3/8 x 3/4 Bolt ltem |Description Part# 7-Step 8-Step 9-Step | 10-Step
3/8 Low Profile Lock nut
_..\ m.x_bwaﬂﬂnmo«_bnw.w_uo:w :..\ »:oom_‘&_m_wu___mﬂ‘ Omom:m:o_.
. MD-CL STAIR 7-10 SIDE
A | Step side panel PANEL 2 2 2 2
o_.ow_.h_ﬁo_..nﬁwia%ﬁx wmﬂm__.‘_:»onm:o: :ﬂ.w.%wm:,mm.wu\ an%o_wﬂmﬁ_w_og:o: (@) B Sure mﬁm«u Plus QQO_A_DQ MD-CL STAIR 3-4 SURE STEP 7 8 9 10
C [Stair nosing MD-CL STAIR 3-4 NOSING 14 16 18 20
D |LegPost CL STAIR 24" LEG 2 2 2 2
E |Legpad MD-CLSTAIRLEGPAD 2 2 2 2
F Handrail MD-CL STAIR 7-10 STEP HR 4 4 4 4
G Handrail 3/4" stand offs MD-CL STAIR STANDOFF 12 12 12 12
H Dock clips 1-Right, 1-Left MD-CL STAIR TOP CLIP 1-R, 1-L 1-R,1-L [ 1-R,1-L | 1-R1-L
I Post Clamp MD-CL STAIR POST CLAMP 6 6 6 6
J 1 1/2 Handrail Plastic Cap H-PCR151014 8 8 8 8
K |2"Post plastic Cap H-PCR21014 6 6 6 6
L 5/16 x 7/8 SS Hex Button Hd H-B31087PHH-SS 48 48 48 48
M |5/16 Brass heavy nuts H-NH31-BRASS 28 28 28 28
N 1/4 x 7/8 Pan Head Hex H-B25087PHH-SS 56 64 72 80
O 3/8 x 3/4 Bolt H-B37075-SS 4 4 4 4
P 3/8 Brass Serrated Nut H-NS37-BRASS 6 6 6 6
Q |[1/2SSBolt13 H-B50150-5S 6 6 6 6
R 1/2" Brass nut H-NL50-BRASS 6 6 6 6
S 3/8 x 1 SS Bolt H-B37100-SS 2 2 2 2
U 1 11/16” round Sleeve 5" MD-CLSTAIRSLEEVE 4 4 4 4
V Post 2” Round MD-CLSTAIRLEG 6 6 6 6
W 5/16 x 1 Hex Bolt H-B31100-SS 4 4 4 4
7 and 9 Step hand handrails
have offset center posts, handrails REV DESCRIPTION DATE | INT
Handrails will only go on one way. - ATNE DVISION
NvCrar” E
402 SOUTHLINE RD R
. ROSCOMMON,MI 48653 o
7 Through 10 Craftlander Stair Assembly and Parts Crafflander Stair 7 through 10
Assembly and parts list
THEREN 1S THE PROPERTY OF MUCRAM METAL DRAWING NO. AT 124723
For rugrosts onier T s ror et | A-MD-CL-STAIR-7-10 DRAWNBY RLW
IT WAS FURNISHED IS HEREBY PROHIBITED.




